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Section 1 - Paperl-General English
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5) Choose the right option to fill the blank:

1) Choose the correct answer:

The was well-funded by various groups.
The was very steep and only expert climbers
could make it to the top.
A) raise
A " B) race
)asee C) rays
B) accent
D) raze
C) assent

D) ascent

2) Choose the correct answer:

She enjoys a good joke. She likes laughing
others.

A) for
B) on
C) at
D) with

3) Choose the correct answer:

They hosted a reception.

A) grant
B) gaunt
C) rant

D) grand

4) Choose the correct answer:

When the venture failed, he found himself

A) bankrupt
B) rich

C) wealthy

D) prosperous

Page1of21
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6) The implementation of the National Policy on Education
1986 was evaluated by two committees namely the
Ramamurti Committee (1990) and

A) The Muralidhar Committee (1990)

B) The Subrahmanyam Committee (1992)
C) The Janardhana Reddy Committee (1992)
D) The Govardhan Reddy Committee (1991)

6) @010l A8 §15 1986 @ QIMIQAS §RE @FF QI JRUIES

QAARR | 9YARAG €GITT QAAFE QAT (1990) LRS!
6960 MG @4 ?

A) gamiug @46 (1990)

B) ggn&1e @75 (1992)

C) @QI66 608 @A (1992)
D) sqllaaq 698 @0 (1991)

7) According to the political ideology of Marxism, the root
cause of entrenched inequality is:

A) Private ownership

B) Public ownership

C) Principle of competition
D) Principle of distribution

7) FIGRQI9A QINERER TG QAN 9@ AT IR
RIQET 6208

A) Q492 AIRRIR!
B) qamial ciRqiql
C) gbeaide!
D) ege Quaql

8) Identify the group of 32 DTH channels devoted to
telecasting of high-quality educational programmes on
24X7 basis using the GSAT-15 satellite.

A) The Pratham Sudha
B) The Swayam Prabha

C) The Swayam Sudha
D) The Pratham Prabha

8) GSAT-15 Qage flufea 24X7 Gae @8 A9 §g
ANFIGPR 9AE FAQ AR ARG 32 3E9Q QYIEAR g9a |
Ggc @ag:; |

A) gaagui
B) garaai
C) garqul
D) gacige

9) What is the average normal temperature of a human
body?

A) 98.6 degree C
B) 81.1 degree C
C) 21.7 degree C
D) 37.0 degree C

9) (€8 JQI0R LAULIRA AIQE UG 6R6S ?

A) 98.6 Gg1 C
B) 81.1&g1C
C)21.78g1C
D)37.0891C

10) Identify India’s first thematic satellite dedicated
exclusively for educational services.

A) EDUSITE
B) EDURAT
C) EDULITE
D) EDUSAT

10) 899 6AQIGER Clel IFT A6Y ARG VSR QA
AAGLQ FINT [ ?
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A) EDUSITE
B) EDURAT
C) EDULITE
D) EDUSAT

11) According to Centre for Disease Control and
Prevention (CDC), if an adult has a BMI of 28, then he will
be categorized as:

A) Underweight
B) Obese

C) Overweight
D) Normal

11) 6QIGl FRQE 9e° GRS 6w9 (AGQ) guIA! AT K68
Q02 QITQ 28 AR T, 6669 OIF 696 694193 AT :

A) 9RIRR0IQ K5 6eR
B) qae

C) gmi@eoig &ye 6ee
D) gaide 6ea

12) Who among the following political leaders represented
the constituency of Lakshadweep as MP for ten
consecutive terms?

A) P.M. Sayeed

B) Mohammed Faizal
C) Somnath Chatterjee
D) Indrajit Gupta

12) FIRGYE AFEAGIT FIQ @4 APAQ KIS AGISIR G 29
AV AFRALRNIQ JEGYRQ @R8s ?

A) d0.999

B) asq ¢dam
C) saingial QIgIa
D) o953 gal

13) Rashtriya Madhyamik Shiksha Abhiyan scheme was
launched by the Government to enhance

A) Access to Secondary Education

B) Improve quality of PH. D Education

C) To have a closed Financial management system

D) Encourage non-gender and socio- economic barriers

13) QIgIS AR J9I 26AIF ARIET FISI 6RE2 AIel AR
FAUAIRIR ?

A) arifie 910 2ESINIS! AR KR!

B) q1ege 0966 dfiea 0as aIde

C) 9@ 33¢ 2Ifie aGeIRg! U9 AYS!

D) Rerdeif 1e° ANIFR 226Fon 9o90aq 691A12R 699!

14) A student learns carpentry for the sake of earning a
living. This is an example of which of the following
dimensions of education?

A) Natural (Knowledge through nature)

B) Intrinsic (Knowledge for its own sake)

C) Instrumental (Knowledge for practical)
D) Social (Knowledge through socialisation)

14) @64 dIEl G131 260 AN 969R AIF FYE| 2 FIRYS
ARIQ FVIQ REVNQ 67 QLS 26T ?

A) giIgae (990 FIKINER RIR)

B) gmida@esdean 8Ix)

C) agige (gEFeia KIS)

D) Qini@e (ANIF@ QITIAIIF6R RIS)
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Section 3 - Paperl-Reasoning

15) What is the missing number in the given series?
81, 162, 98, 196, ?, 446

A) 345
B) 331
C) 267
D) 223

15) Q@8 §716Q | QI AWIT K& 26T ?
81, 162, 98, 196, ?, 446

A) 345
B) 331
C) 267
D) 223

16) What is the next number in the given series?
47,4, 28,196, ?

A) 1189
B) 1372
C) 1156
D) 1263

16) gQQ GII6Q Y9I AWIYFR TR\ L°HIT 94 629 ?
4/7, 4,128,196, ?

A) 1189
B) 1372
C) 1156
D) 1263

17) If ORANGE is coded as 02A4G8, then LITERATURE
is coded as :

A) L2T4R6T8R10
B) L2T4R6T8R11
C) L2T4R6T7RY

D) L2T4R6T8R12

17) 9@ ORANGE § O2A4G6 Q169 691 99 QQUAIRE, 666
LITERATURE g @03 6913 99 @aude

A) L2T4R6T8R10
B) L2T4R6T8R11
C) L2T4RBT7RY

D) L2T4R6T8R12

18) Two types of tea worth Rs.50 and Rs.80 per kg are
mixed and the mixture is sold at a gain of 20% at Rs. 84.
The ratio in which the two types of tea are mixed is

A)1:
B) 1:
C)1:
Dy=lig

N A aow

18) @9l 9% 50 61 99° 80 6 4R 9@ IRIR ©F 88 9e°
9% Fgeq 84 owl @a6a 20% MIR 62e8 | (8l 9 9RIeR
o @ UGAIS 6R6S

A)1:3
B)1:1
C)1:4
D)1:2

19) First two words are related in a certain way. Similarly,
3rd and 4th are also related. Find the 2nd word from the
given alternatives.

Couple: ?: Trio: 3

A) 33
B) 30
C)13
D) 2
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19) QN1 9RF 9 U@ 548 69 ARG 6T | AGRU VER N
98° ¥ A1 ARG 2GS | gOa Fe8 AUQ 99 90G Q6 QeF |
Qe ? Qa3

A

Techofworl

) 33

B) 30

C) 13
)2

O

20) What is the missing number in the given series?
1T 83,2262 ¢.-31.88

Q) M P

) 34
) 44
) 37
) 39

O

20) 998 97I6Q @ QI A°HIT @41 2165 ?
11,93, .22 62, 2. 3108

A) 34
B) 44
C) 37
D) 39
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Section 4 - Paperl-Teaching Aptitude

21) Participation of learners can be increased by adopting
which of the following teaching methods?

A) Project method

B) Discussion method
C) Field trip method
D) Lecture method

21) AORYE 699 98¢ 980 ged @6n AT 2EYRE 9F
62IRCIRS ?

A) geg 98d

B) aierioql aad
C) qimy aIg1 a8d
D) Quienie 0&d

22) The best method of teaching English language in India
is the

A) Indirect Method

B) Translation cum Grammar
C) Direct Method

D) Dr. West Method

22) QO9E6Q R°RIFT JNI g0 699 9850 @4 ?

A) agoua a&d

B) aigQie g2l Quiaqd Sa
C) goum a8d

D) ¢. 6aq aad

23) A child creates his own concepts and knowledge
based on the information he gets from outside sources.
This means that he learns through the method of

A) rote learning

B) creation of knowledge

C) memorization

D) construction of knowledge

echofworld.In

23) 964 GYIEH QIR VLQ TIF &Y ZRIFER FIA AR 3
89 9F @6Q | ITIQ 28] 61 699 ARGER JYF ?

A) 6l

B) @10 aqe @aQl
C) 904 agea!

D) gip 908 9aQ!

24) "To prepare for the pain of death" is the aim of
education according to

A) Pragmatism
B) Realism

C) Existentialism
D) Idealism

24) 629 Q12 QYD1 ‘IR A4 AIY 9e *FRI" 6208 JAI
atsl

A) QURLIQRIS
B) galeicio
C) 2@qeQ
D) aledQiq

25) The concept of self image and self worth was given by

A) Gardner

B) Maslow

C) Carl Rogers
D) Thorndike

25) 211 88 6 25 F)miQ 2RI & 99Ie K%6m ?

A) QIGeq

B) aigem

C) @in 6aied
D) adeia]
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26) Which one of the following statements is correct?

A) Free and compulsory education should not be banned
because it is the fundamental right of every citizen

B) Free and compulsory education should be banned
because people don't like free education

C) Free and compulsory education should not be banned
because it can help privileged and elite students

D) Free and compulsory education should be banned

because a huge amount of government money is
wasted

26) GRS 69 99T O ?

A) AIGdl 6 QRIS F8I FER 629 AFQ 6% QIAE 1D
JER4@ QIORR0 610 2RI9

B) aicdl 8 qroiree dal f88 6201 @0 Q08 SRIRAISS
AIGEI d8Ig 90 YRS

C) qI9dl 8 QUSRS Sl HTR 6291 AFQ g6Y FIQE 92 AF
QI geQIsl Q1RSS! 8 AFIR 68410 BISRIFIG ALY @6Q

D) qigidl 6 QISR S8 FE® 6291 @5 @108 9ga 9GAIEa
AR 28l 9B 6TRE

27) Which of the following is a non-verbal communication
in a class room communication?

A) Time out

B) Facial expressions
C) Behavioral charts
D) Slapping

27) 9@ 6541 *F VI6S QIR AFAER RS AUQ 624
9@ 26-6F1YR ARINGR ?

A) apa aqig
B) qua @ie

C) 4e91e A&
D) cigel a@el

28) Cognitive Learning Theory implies that the different
processes concerning learning can be explained by
analyzing first

WtsApp/Call- 8596976190

A) the mental process

B) the behavioral process
C) the emotional process
D) the social process

28) I°RIAIAR GV¢ ARG QI 9Q JOIAAN €4 VG 67Q F8R
gaaIg gaen ad Geagd @d 98 IeaIRe ?

A) aiede gl
B) quegia g&al
C) aige gqal

D) aqi@a gge

29) Which of the following is one of the aims of
Pragmatism?

A) Self realization

B) Development of social efficiency
C) Individual development
D) Development of instincts

29) FORYS FIQ 6REE NLLIRAIR ARST RAY ?

A) 2iI7) 61

B) aqiGe eaoie dql4
C) Quaae dala

D) ge@a aql8

30) The concept of classical conditioning was given by

A) Guilford
B) Pavlov
C) Skinner
D) Rousseau

30) QIGHER AGYRRA 2RIREI G4 QIR @REER ?

A) SIRETIG
B) aieeria
C) aee

D) geai
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Section 5 - Paperll-Odia Language

31) ‘g8’ 6P 9LI0a 99 ?

Techofworlc

B) Ree
C) aaK
D) G848

32) ‘UK QEER QIIQ AT @R AU @°4 ?

A) 368 7% 6alIgea 02l 694
B) Q0904

C) AGEI
D) Qiigee!

33) QG4 §2Q FaQ1e AUACARIR a2 9|

A) 2964l
B) AWECE
C) 20eR

D) QEG4l

34) ‘29019’ 9q FAQIe AR 49 Sa |

A) QaIQ
B) QIQg1®
C) FaIa
D) QG

5 cdlfINy B%a 6291 2 QEIRdQ QEE 98¢ eal

A) @4I@ TS

B) @Uidieeq 9§ adal
C) QURER IO 62
D) RUIR TTI

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World A

WtsApp/Call- 8596976190

Join Us-

36) ‘0edaaIe 49C 6od 49 RVIQ ALY ?

i Tech

C) @f
D) aid1

37) QUG UL Feaa ?

A) 9918 98,
B) ®IQ “QIa
C) 98P 48
D) QleQeY

38) ‘olel’ & 9L AIRIN ?

A) QEIRQO@

B) 8@ Fcadae
C) Qg Qee

D) FeRae

39) ‘A Qrew yPg @’a Qelar ?

A) PIRQU QIreR
B) @QU QPre®

C) A4 Qree
D) @Y Qree

; 6@t aie Scaad

A) 698 a9e

B) Qo@al €A1
C) dRRen ag
D) RIG QA
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&) ‘rQiQe’ 40 GcaaY a9 @’a?

A) ZrIRIa
B) Zrqi@l T I“
C) ardie eC

D) 2ra1

- e FARIER Q, 6, §, 9@ 0F 94 9ca @ 26a, 694 94 cRIQ2N ?

A) ©
B) @

D) ‘QL’

43) QOQACER QUIRO 26 29 99 65628 29ua ?

A) a8
B) @%@
C) @a
D) &1

a4) CUINIR AIRIN6Q AR cawISe aad coa dal?

A) Aede @4l
B) QQ¢Q Gal
C) anidel @4l
D) 2QAlae| 24l

45) 6QatG ‘anaer’ aeq 9649 F6¢ |
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Section 6 - Paperll-Mathematics
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48) If PA and PB are the tangents from a point P to a circle,
such that PA = 10 cm and angle APB = 60°, then the
length of the chord AB is

A) 8cm
B) 11 cm
C)9cm
D) 10 cm

46) 9@ PA 99° PB 9@ 99 96 P Gg0IQ 2460¢ 268, 6a00&
PA = 10 6Qfi 9&° 69161 APB = 60°, 6962 &4 AB @ 634 6968

A) 8cm
B) 11cm
C)ocm
D) 10cm

47) In a group of 50 people, 35 speak hindi, 25 speak
english and hindi. If all people speak at least one
language, then how many speak only english?

A) 35
B) 20
C) 15
D) 25

47) 50 @82l 9Q g9 69, 35 96 @01 qa8, 25 @4 216 QI
Q8 1 A8 g6eym Q4B AT YR 6QIGN QIS GEE, 606 ERED
6 B 6P QAT G2E?

A) 35
B) 20
C) 15
D) 25

48) For any two sets Aand B, if AU B = AN B, then

A) A = empty set
B) A=B

C)AcB
D)ADSB

48) 60 69193 GAC €A A Ne° B Alp, IS AU B =ANB,
6969

A) A=ga4 629
B)A=8B
C)AcB
D)AoB

49) What will the amount of money after one year become,

if the principal amount is Rs.12000 and interest rate is
7.5%?

A) 12900
B) 12125
C) 12500
D) 13000

49) 6015 29 Q6 SR AGAIE Q66 626 6QL0 lakaleally|
12000 61 99° Qi I 6298 7.5%7

A) 12900
B) 12125
C) 12500
D) 13000

50) What number must be deducted from 8, 10, 17, 22, so
that the remainders become proportional?

A) 3
B) 1
C)4
D) 2
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50) 8, 10, 17, 22 @ 6@% IWIT F6Is @QIdQ, AIT TR6Q
QY AAIGAIST QA7

A) 3
B) 1
C)4
D)2

51) What is the exponent of 2 in prime factorization of
1447

A) 4
B) 5
C)3
D)6

51) 144 Q 6¢13@ aQIee F4a6a 29 AIPIFT 696 ?

A) 4
B) 5
C)3
D)6

52) The smallest square number divisible by each of the
numbers 8, 9 and 10 is

A) 900

B) 129600
C) 360

D) 3600

52) 8, 9 3 10 g6oHIaT FI0I FEIGG 62RaQl F9or Q9 Al
6208

A) 900

B) 129600
C) 360

D) 3600

53) Two numbers are in the ratio 2:3. If 9 be added to each
then their ratio is 3:4. The numbers are

A)6and9

B) 24 and 36

C) 10 and 15

D) 18 and 27

53) a5 Q¢ 2:3 AgIGEa QEE | UF 9 g6eyet 4Fe 6aIa
QAUTS 6862 BGUIP 3:4 626 | 6562 LGS 6069

A)699°9

B) 24 qa° 36
C) 109" 15
D) 18 q@° 27

54) If two positive integers a, b expressed as a = pg? and
b = piq where p, q are prime numbers, then LCM ( a, b) is
A) p’q?

B) pq

C) p*q?

D) p*q?

54) 9% 965 g8INR 99l a, b § a = pg’ 9e° b = p’q

W6 IRIE FAUARE 6990 p, q 62083 671Fw A6, 6669
@Y ( a b) 6@6e

A)
3.3

Pq

B) pg
C)

3.2

P4
D)

2 2

Pa

55) From a point Q, the length of the tangent to a circle to

its point of contact is 24 cm. Distance of Q from the centre
O is 25 cm. The radius of the circle is

A) 7cm
B) 24.5 cm
C)12cm
D) 16 cm
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55) Q 999, 19 98 g% A6a9Ia Re 1RIQ 965 9F 24 6QF
26T 1688 O @ Q 8 QoS! 6298 25 637 1 90 UIAUSY 6R6E

56) Which of the following can be the digit in the units
place of a perfect square?

A) 3
B) 1
C)7
D) 8

56) AQAYS 6RaF AU @ IR TR FIFG AR
621RalIeR ?

gcom 2>
0 ~N » W

57) If 2 is a root of the equation x2 + bx + 2 = 0 and the
equation x2 + bx + q = 0 has equal roots then g =

57) 9@ 2 626@ X + bx + 2 = 0 AR R 9Q° QRS

x2+bx+q=OQ§lﬂ§lﬁQ§'§6@69q=

A) 9/4
) -16
)
)

@

Cc
D

16/27
-8

58) If the diagonals of a rhombus are 8 cm and 6 cm. The
perimeter of the rhombus is

w
e
)
E>)
2
)
)
s
@
®
)
D
o
O
3
4
2
D
(9]
3
[*2]
<
()]
2
D)
2
B
®

59) The graph of 3x + 2y = 6 in the two dimensional plane
represents

A) a parabola
B) a point

C) acircle

D) a straight line

59) Q@ ZUILIFN AFIPREQ 3X + 2y = 6 @ PIT € QWAAG F6Q
?

A) 641G QISR
B) 6@i1Ga 999

C) eaIGq 9@

D) 6q15 1 aom 696

60) How much percentage is the first number of the total
of two numbers which are in the ratio 3:2?

A) 60
B) 45
C) 15
D) 50
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60) 3.2 2QUILEQ 2l QAT A°EIQ CAIGTRQY FaIFl AHIIQ

JOIIQ 6627

A) 60
B) 45
C) 15
D) 50
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61) As per the Indian Constitution an election to fill the
vacancy in the office of President will happen within what
time from the date of occurrence of the vacancy?

A) Five months
B) Six months
C) Two months
D) Three months

61) QGG QAR AQUIYT AILAG L ¢iR QZ6m dIm aga
TR0IQ 6@E AAR FIIER FRIPR 626 ?

A) are a1g
B) gz qua
C) 9@ A
D) 3@ qua

62) Which of the following zones is very cold compared to
other areas?

A) Area lying between Antarctic Circle and South Pole
B) Area lying between Tropic of Capricon and Equator
C) Area lying between Arctic Circle and Equator

D) Area lying between Equator and Tropic of Cancer

62) QUISY AIF ClIRE FRFIER F60lID 699 289 LY@ 2l 26T
s

A) g601Q 9@ 99° @R 671Q PRI 2BR
B) aaq g8 e 8ge aae Aug 2se
C) g6r1Q 9@ 99° §ge Aae A9 28R
D) 3ge 6a¢ll 9e° @490 QI8 Aud 28

63) The angle formed by the solar radiation to the ground
is known as:

A) Angle of incidence
B) Zenithal angle

C) Solar declination
D) Vertical layer

63) 6dla SRAE AR YUY QUCH €9L 6R1E B 9 QIR
QeI -

A) 21909 6218
B) ¢aa 6qld
C) 6dla 6a14
D) gme 99

64) Natural gas is formed from plants and animals which
once lived in the tropical seas. Which of the following is a
natural gas used as a fuel to run vehicles?

A) Biofuel
B) CNG
C) LPG
D) Coal

64) 919 9FA ATFEQ 999 g &9 @8 98° &1 0I, YIgEe
QUIQ IR 621R2 | FEQIS UG 6RE VRS, IR FI9ER G4I,
Q12 @ 9IE ERIRSI AR QEA NLLS 6TRAN ?

A) 6539 Qe
B) duq @
C)undéd
D) exiqsu

65) An imaginary line on Earth's surface defining the
boundary between the change of one calender day and
the next is called:

A) Intercontinental Day Light
B) International Date Line
C) International Day Light
D) Intercontinental Date Line

65) 6615 @YIENEQ FAG BIQ TRLET @8 FAIER QIR ghaibe
QQRAUR FES1A YIRS QU6 UG [IFRW CALG 6 QLI ?

A) 22021694918 GelsRIe
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B) 2ieeionm 6ais 6adl
C) aieeie1a SaIsmie
D) 2I3nwi6e9ia F9iw 6o

66) Where did the Old Stone Age people live in?

A) Forts

B) Caves

C) Mud house
D) Igloos

66) gIoa g9 o emiadlies 6220160 QI @Qeem ?

A) g4 aqe
B) g

C) aig aa
D) aq,

67) Which of the following Acts/reforms provided for
General Electorates, Class Electorates cover landlords
and Muslims and Special Electorates?

A) Montagu-Chelmsford Reforms, 1919
B) Minto Morley Reforms, 1909

C) Govt. of India Act of 1935

D) Govt. of India Act of 1892

67) AIRYS 69 IRG/A°AUQ ARG AR QF, eFieQ 6
(ARG 9@ 6541 FFI0R 98° 908 FIIER e KM ?

A) 601€/9-6071Q6T1E Q°RUR, 1919
B) dieql sc6m @°2ie, 1909

C) 1935 @ QUeE1e IR 2R

D) 1892q Qu6910 49919 299

68) Diamond is the example of which of the following types
of rock?

A) Metamorphic rocks
B) Sill rocks
C) Igneous rocks

D) Sedimentary rocks

68) 21, 57 AYS 696 YRR IR QTN 26T ?

A) Quisde al

B) cidemidien aq

C) qeqeqy/ essie S
D) 2e@g a1

69) Which of the following is a coin used during Vedic
period as a medium of exchange for trade transactions?

A) Dishka
B) Vishka
C) Nishka
D) Mishka

69) FARYS FUQ 6@ 71T 630R YO6Q 97 RIARIA 62GI6REQ
9@ ARIA R ?

70) In India, the District Administration is headed by which
of the followng officers?

A) District Chairman
B) Chancellor

C) State Officer

D) District Collector

70) QI096Q BRI 9AIA8 FYAYE 696 LYRIAIT TIAI 62IR2I
7

P

) GRS
B) siesana
C) aIsy 2yeIal

)

FRIAIG

D
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71) Who among the following freedom fighters was a

prominent leader of the 'Extremists' faction of Indian
National Congress?

A) Surendranath Banerjee
B) Bhagat Singh

C) Dadabhai Naoroji

D) Lala Lajpat Rai

71) F65118 FIQ B9 QIAGIE FIV1E 9°69Y @ 9aF O]1 63IF1 Q
§66 QUATG 6661 YER?

A) Qeagaial QRIS
B) ecie &

C) Q151 QIR Q6T
D) QIR AISAR QG

72) Article 24 of the Indian Constitution covers which of
the following aspects?

A) Prohibition of employment of children in factories
B) Protection against human trafficking

C) Equality before Law

D) Right to Freedom of Religion

72) Q10012 AAIGA IR 24, F69I9 696 IV ATR F6a ?

A) QFRIQHNFIER Fg-glias FART FeT
B) cipe cimig 69101 Q419 f@ea adl
C) aine ageea ane!

D) a¢l 9RIAGIQ 2R

73) Tectonic plates are also known as:

A) Seismic plates

B) Lithospheric plates
C) Hemispheric plates
D) Convergent plates

73) 65609 698 @ 2R QIF1 €M

A) g 698

B) @eaiq 608 699
C) sqimia 6gQ

D) w@i@qen 699

74) The words 'Socialist' and 'Secular’ were added to the
Preamble of the Indian Constitution in the year:

A) 1975
B) 1976
C) 1974
D) 1977

74) 'QAIGQIQ B UAGACATO 9RT INg QKGR ARG
g9IenI6a 6@6% 6910 @AUARAR ?

A) 1975
B) 1976
C) 1974
D) 1977

75) Which among the following is/are the main causes of
soil erosion?

(i) High velocity winds
(ii) Heavy Rains
(i) Poor farming methods

A) (i), (ii) and (i)
B) Only (ii)

C) Only (i) and (iii)
D) Only (i)

75) 96918 FRIQ &8R! TR S FIQE 2R
i) 2P 6QTYB AR

i) AeYye QRIS

iii) 29a0 Q8 gaIR

A) (i), (ii) 9 " (iii)
B) saa® (ii)

C) eaan (1) 98" (jii)
D) eaa@ (1)
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76) In the equation F = ma, what does 'a' represent?

A) Torque

B) Velocity

C) Acceleration
D) Mass

76) AAIRREEER F = ma, ¥g6Q 'a’ 6a6ea Q0898 298 ?

A) ¢a @l 21g4
B) a@eaq

C) qas

D) ega

77) If the ovary is attached above the attachment of the
other three whorls that is corolla, calyx and androecium

the ovary is said to be superior ovary and the condition is
known as

A) epigyny

B) perigyny

C) placentation
D) hypogyny

77) 9% GRS , AR OF @@ QAUER KGOS AT Kl : FIEAUR,

Qg 99° CYNTAN , GI6IEA NG VREER TN
QRIAN| N 219G QRIAIN

A) a8e1

B) sadi@a
C) sqeaseqq
D) 2@6a1@a

78) Which of the following enzymes produced by
Streptococcus used as a ‘clot buster’, for removing clots
from the blood vessels?

A) Streptokinase
B) Streptophosphatase
C) Streptocitrase

D) Streptodehydrogenase

78) 98 QREQIQ/ A 98 98 RS AR 6AQ IV

6ACYEHRY T101 IS P4 NE° " GAIF GRIRRE/ VIET Q4SS
@47

A) egeq@enq

B) sasqyarq 6a659

C) ea6qudecq

D) 6a6q@21062169659

79) Statins produced by the yeast Monascus purpureus
which have been commercialised as

A
B
C
D

treating arthritis

treating breast cancer
blood-sugar lowering agents
blood-cholesterol lowering agents

79) 6Q1R1AQ QIFAZIQ @ 990 VIR , ARG AT FIRS G
ARE Q12

A) Q9 a1 5@l

B) aay aae 5@l

C) ag6a 9aal RN FI0R

D) a26q 6a16R4M @10 Q@

80) Which of the following is NOT a function of leaf in
plants?

A) Photosynthesis
B) Defence

C) Transpiration
D) Pollination

80) 60119 6966 QEOQ AR QI §6<

A) 216RIS A°6HIE/
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B) gGasl 83) 6910 @ 9@ dgh , PEFIFIACR YOIR 62 IR R ARG
C) asaeq QG Q2N , JI2I § AIRNEST EIMTY R AFOIQ 6711 2T, F1L
62
D) aqig @i
A) arifie a6,
81) Wet clothes dry up due to B) aiqeq @mleﬂ@q
C) aipegl 989
A) sublimation D
B) freezing ) AI96SI 9]

C) condensation r N

D) evaporation
84) Which of the following thermodynamic variables is
measured by Kelvin?

81) 69l QUL GEldid , 92IQ RAQE 6208 :

A) Temperature
< B) Pressure
A) 89 Q1eQ C) Volume
B) denis/20aad D) Mass
C) ag1eed ot A
D) adiaqs 84) G6RI9 6REE , GI0 OIRT ANTD URSERSIR AAIT
6aR% 62 AQIAN?
82) Which of the following is the properties of baking A) glaqig
soda?
B) ci@
A) on heating it evolves carbon dioxide gas C) aeae
B) strong disinfectant used for sterilization of water
C) removal of permanent hardness of water D) age

D) manufacture of glass and soap

85) What happens to the potential energy of a motorcycle
82) G619 6965 6B/ IR 6APA Q61 2166 ? that accelerates on straight plane and acquires velocity 3

times of its intial velocity?

A) QRg 26R 121 A9 PR AFINR S F6A A

B) o2 S6aE QInl 934N Q1614 TR NES YL 9 B
- Cc
C) ena @iaiag ga «aad i

becomes 3 times that of intial potential enegy
increases twice that of intial potential energy
becomes 9 times that of intial potential energy
no change is observed in its potential enegy

_— e

D) @9 9e° AIgea R9Iee

85) 6K696Q6R IR 671199 LIRS | Qﬂ@ﬁGQ Q] MR FEQ
83) A chain of proteins wrapped in a spiral to form a tube

. . : 98° @ R6e0Ia GRGE IRE9GI6R UREE , 6960 @81 94 ?
which are the thickest members of the cytoskeleton is
termed as o B
A) 92Ia giefia 35 9360 65 94 9 23
A) intermediate filaments B) veia giofie 66 6950 90 g8 98 94
B) microfilaments C) vaiq giofe 88 986a a2 98 98 99
C) microbodies g i ol .
D) microtubules D) waie 6% 9960 6@16d afeeie g9 Q1R
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86) Why are liquids and solids hard to compress?

A) magnitude of repulsion decreases with decrease in
distances separating the molecules

B) magnitude of repulsion increases with decrease in
distances separating the molecules

C) magnitude of repulsion decreases with increase in
distances separating the molecules

D) magnitude of repulsion increases with increase in
distances separating the molecules

86) ear 1&° @09 09Idq AFTE A0S *aea AIER ?

A) 6AIRQIN AINg 9Ue 95 YA 999! @ 2 A2 Fadaa
ARG @ A

B) 60iRqiA AIGg 2@ @8 %Sl 98 @ 24 A2 fadaa
AQAANE @A

C) 6aRgIa AI9g QAR @0 QYR 9901 Q 9F A2 Frdaa
AR @F QN

D) 60iRgiR ARG QI8 @9 942 999 | 9F Az dedaq
A4 9@ Qg

87) One Kilo-Watt-hours is equals to how many Joules?

A) 540000000 J
B) 7200000000 J
C) 3600000 J

D) 180000 J

87) % FERIGIQ 49l 6R6C R 9E6 QAIG ?

A) 540000000 J
B) 7200000000 J
C) 3600000 J

D) 180000 J

88) What is the function of chlorophyll pigments in plants?

A) biosynthesis of enzyme
B) biosynthesis of protein
C) biosynthesis of lipid

D) biosynthesis of sugar

88) RO96S 6RICAITR /08203 LRI @ FI |€ ?

A) ] FITE O 659 A°6HIS
B) 6015 @ 65 Q6984
C) Adg @ 659 <6gad

D) 940IQ 65 Qcgad

89) The reaction, 2RX + 2Na — RR + 2NaX is an example
of

A) Grignard Reaction

B) Wurtz Reaction

C) Kolbe's Electrolytic Method
D) Corey House reaction

89) 2RX + 2Na — RR + 2NaX 9% g&gal , fI9Ia a9Igedl ?

A) qalIE 9ol

B) e ggal

C) 69l6R 0 QERACTINATR G
D) exica g9@el

90) Spirogyra is a filamentous

A) bacteria
B) parasite
C) algae

D) protozoa

90) YREAUTRA 6SITT TS

A) @151
B) aaeia
C) 6dim

D) 4@ 6218 f1e /210961
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Question Paper No: 47071 71
Answer Key
1. D 31.B 61.B
2. D 32 A 62 A
3. D 33.D 63. A -
4. A 34.C 64.B
5. B 35.D 65.B
6. C 36.D 66.B
7. A 37.D 67.C
8. B 38.D 68 A
9. D 39.D 69.C
10.D 40.B 70.D
11.C 41.A 71.D
12.A 42.D 72. A
13.A 43.B 73.B
14.C 44.C 74.B
15.D 45.B 75 A
16.B 46.D 76.C
17.A 47.C 77.D
18.D 48.B 78.A
19.D 49.A 79.D
20.B 50.D 80.D
21.B 51.A 81.D
22.C 52.D 82. A
23.D 53.D 83.D
24.C 54.C 84 A
25.C 55. A 85N
26.A 56.B 86.B
27.B 57.A 87.C
28. A 58.B 88.D
29.B 59.D 89.B
30.B 60.A 90.C
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